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PRACTICE 1: Consider the region R bounded by the graphs of y = x*and y = x+2 as shown
by the shaded region above.

A. Set up, but do not evaluate, an expression involving one or more integrals used to find the
volume of the solid generated when the region R is revolved about the line x = 20.
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B. Set up, but do not evaluate, an expression involving one or more integrals used to find the
volume of the solid generated when the region R is revolved about the x axis.
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C. Set up, but do not evaluate, an expression involving one or more integrals used to find the
volume of the solid generated when the region R is revolved about the line y =20.
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D. Set up, but do not evaluate, an expression involving one or more integrals used to find the
volume of the solid generated when the region R is revolved about the line y =-1.
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E. Set up, but do not evaluate, an expression involving one or more integrals used to find the
volume of the solid generated when the region R is revolved about the line x = -1.
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F. Set up, but do not evaluate, an expression involving one or more integrals used to find the
volume of the solid generated when the region R is revolved about the line x = -40.
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PRACTICE 2: Consider the region R bounded by the graphs of x = , + 32} - +3yv-4

and y = x +4 as shown by the shaded region above.
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Both graphs pass through the points (—4, 0)and (0, 4)

A. Set up, but do not evaluate, an expression involving one or more integrals used to find the
volume of the solid generated when the region R is revolved about the line x = 20.
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B. Set up, but do not evaluate, an expression involving one or more integrals used to find the
volume of the solid generated when the region R is revolved about the;pq@ XIS
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C. Set up, but do not evaluate, an expression involving one or more integrals used to find the
volume of the solid generated when the region R is revolved about the line y = 20.
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D. Set up, but do not evaluate, an expression involving one or more integrals used to find the
volume of the solid generated when the region R is revolved about the line y =-1.
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E. Set up, but do not evaluate, an expression involving one or more integrals used to find the
volume of the solid generated when the region R is revolved about the line x =-5.
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PRACTICE 3: Consider the region R bounded by the graph of y = 2x — x? and the x-axis as 75 6

shown by the shaded region above.
A. Find the volume of the solid generated when the region R is revolved about the y axis.
',/B Find the volume of the solid generated when the region R is revolved about the x axis.
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